












Sports scheduling (big-M model)

min u

s.t.
∑

d={1,...,M}
xijd = 1 ∀i 6= j

∑

j∈{1,...,T}\{i}
xijd +

∑

j∈{1,...,T}\{i}
xjid ≤ 1 ∀i, ∀d

zid =
∑

j∈{1,...,T}\{i}
xjid ∀i, ∀d

yi1 = zi1 ∀i
yid ≥ yi(d−1) + 1− d (1− zid) ∀i, ∀d > 1

u ≥ yid ∀i, ∀d
yid ≥ 0 ∀i, ∀d
xijd ∈ {0, 1} ∀i, ∀j,∀d
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Sports scheduling (yide model)

min u

s.t.
∑

d={1,...,M}
xijd = 1 ∀i 6= j

∑

j∈{1,...,T}\{i}
xijd +

∑

j∈{1,...,T}\{i}
xjid ≤ 1 ∀i, ∀d

zid =
∑

j∈{1,...,T}\{i}
xjid ∀i, ∀d

yide ≥
∑

δ∈{d,...,e}
ziδ − (e− d) ∀i, ∀e > d

u ≥ (e− d + 1) yide ∀i, ∀e > d

yide ≥ 0 ∀i, ∀e > d

xijd ∈ {0, 1} ∀i, ∀j,∀d
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